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307 21201 A 63,420 57,900 5,520
< 19,026
Al 44,394
02 AtFAAFE X 63,420 57,900 5,520
OAHIXA=E sAHE XNJ 30,0008 +2,114H 63,420
< 19,026
Al 44,394
FEILSMYIBEL N J<EE> 35,000 140,000 A 105,000
< 10,500
Al 24,500
402 2I2H X201 M 35,000 140,000 A 105,000
< 10,500
Al 24,500
02 QI EALEZ (OIS ) 35,000 140,000 A 105,000
ORIt L XA
50,000,000& *1JH 2 x70/100 35,000
< 10,500
Al 24,500
BT A<E > 5,070 12,840 ANT,770
< 1,521
Al 3,549




FAN: sHEML.
Y SOFMAYN (SYHL /Y - SE)
ool dEAsYSH EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
402 BI2FX=01 M 5,070 12,840 ANT,770
< 1,521
Al 3,549
02 U2 TE2ALEZ(0IETHR) 5,070 12,840 NT,770
Oztzii=s XA 60,000 *169 *50/ 100 5,070
< 1,521
Al 3,549
RIN=GAM KNI (HSE=sTMAE)<B 2> 95,835 111,450 A 15,615
= 38,334
< 17,250
Al 40,251
402 RIZERt20l ™ 95,835 111,450 A 15,615
= 38,334
< 17,250
Al 40,251
02 DIt 2 AL EZ (01X ) 95,835 111,450 A 15,615
ORI=sSTMXA 191,670,000& %50/ 100 95,835
= 38,334
< 17,250
Al 40,251
a=sadsgiLxE 99,750 183, 180 83,430
402 RI2HXt20| M 99,750 175,000 AT75,250
01 212t 2 A E = (REMTH ) 99,750 175,000 AT5,250
Od=sgadx+ sz SIS K&
1,500,000% *31ha*70/100 32,550
O "AntgdelX &, ZIMW X2
1,500& %20, 0000 70/ 100 21,000
O+&8 EltE 23 X&
1,000& *66,000==*70/100 46,200
EZsHeICHH XA 12,000 12,000 0
307 21201 A 12,000 12,000 0
03 AHMEE2HHIES 12,000 12,000 0
O(MB=rsT =0l IEAHES 2
1,000,000& »12& 12,000
SIIEHlE X< E> 4,344,240 4,858,050 A 513,810
= 1,728,000
< 345,600
Al 2,270,640
402 RIZEX20l A 4,344,240 4,858,050 A 513,810
= 1,728,000
< 345,600
Al 2,270,640
02 RIZEXt 2 AL EZ (01X TS ) 4,344,240 4,858,050 A 513,810
ORJIEHEXNA 4,344,240,000& » 14 4,344,240
= 1,728,000




2N sEEM.
B SAMHAN (SYNLLL /Y - SE)
Sel: HBFSASY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 345,600
Al 2,270,640
XNEtds A= THZ S X A<E > 87,650 85,000 2,650
== 26,295
Al 61,355
402 QI2H X201 M 87,650 85,000 2,650
= 26,295
Al 61,355
02 CIZEXIE A EX (0| XM THL) 87,650 85,000 2,650
OsASME BRI
5,000 *35,06024 *50/ 100 87,650
= 26,295
Al 61,355
SIsSANSAYEX 2 H<EE> 22,950 19,350 3,600
= 6,885
Al 16,065
301 et A= 22,950 19,350 3,600
o 6,885
Al 16,065
11 JIEtE A= 22,950 19,350 3,600
SI=sAXNEXEI 2 (51ha) 22,950,000 22,950
& 6,885
Al 16,065
ASHAsHIR =X |<E > 10,500 7,000 3,500
& 3,150
Al 7,350
402 SI2vXHE0| & 10,500 7,000 3,500
& 3,150
Al 7,350
02 BIZtXIEANYE X (0OIETHH) 10,500 7,000 3,500
O Ed=zgHEIEXNA
1,000, 000& *15ha*70/ 100 10,500
= 3,150
Al 7,350
AMetAtAS S 11,813,116 9,870,969 1,942,147
= 8,340,472
J| 54,000
& 554,119
Al 2,864,525
S At2e X & 94,104 81,920 12,184
201 LBt 45,704 35,520 10,184
01 AP 22| H| 45,704 35,520 10,184
O1.det=2H| 5,000
AT HRFA ABZH| 5,000,000 5,000
O5. 24| 2,304




FAN: sHEML.
B SAMHAN (SYNLLL /Y - SE)
Sl AZNAFLN S (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AT D2Ed NZA22N =4
8,000 «3H 8L «12& 2,304
06.9xt= 38,400
SSEULSIRYEY LBHA YR
400,000 »8CH =12 38,400
202 044l 3,600 3,600 0
01 SLHOIYI 3,600 3,600 0
OAl2ER 0] 22 % 7 01
20,000 *3F 62 «103] 3,600
206 M= Hl 2,000 2,000 0
01 M= 4l 2,000 2,000 0
sELES) 227 (FL S)
2,000,000& 2,000
301 et a s 42,800 40,800 2,000
09 AL HIZ &S 42,800 40,800 2,000
Os&Eg&Esd XA 2,000% *7,500 23| 30,000
Os%0 DS L ASHA X2
60,000& *60H *32 10,800
OXRZUII & HHIDIEA 44X S4
8,000& 250H 2,000
nEENFYALE 495,580 668,300 A172,720
402 RI2FRt20l ™ 495,580 668,300 A172,720
01 2IZt Xt 2 AL E = (REM &) 495,580 668, 300 A172,720
OF=ctZ3 e HEsIIAH N& 240,000
-S&01D| 20,000,000% *16CH *25/100 80,000
-3 el 40,000,000 »16CH*25/100 160,000
OMESE sZSlol B2 H XA
200,000& *63ha*70/100 8,820
OalE=2x THHHXI & ALY
2,000, 000& *4ha*60/100 4,800
OLNEZE HMA SRR (HSHZ AR
1,000 %40, 0009 *50/ 100 20,000
OOtMsSES oY XA
12,000& *25,000m*50/100 150,000
OLEBZE MMM STHUANZAE(ELERIIT)
40,000& 2,570 %70/ 100 71,960
HEREXJA<E > 118,500 111,500 7,000
< 35,550
Al 82,950
402 RI2HXt20l ™ 118,500 111,500 7,000
< 35,550
Al 82,950
02 It 2 AL EZ (OIS ) 118,500 111,500 7,000




FAN: sHEML.
M sy (=L d/= - &)
Sl AZFAY TN TR (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHsSIEAX (2") XA
42,000, 000& *3JH 2~ *50/100 63,000
= 18,900
Al 44,100
OHSIE HES(LE) X
5,000,000 =44 A +50/100 10,000
< 3,000
Al 7,000
OHSRZE =3&(HE) XN
26,000,000% *1JH 2 x50/ 100 13,000
< 3,900
Al 9,100
OH=2% =35 (4A8) X
13,000, 0002 *5JH 2 x50/ 100 32,500
< 9,750
Al 22,750
SAESIHSS<EX> 600,000 620,000 A 20,000
< 125,000
Al 475,000
402 BI2EX=01 M 600,000 620,000 A 20,000
< 125,000
Al 475,000
02 QI EAILS EZ (OIS ) 600,000 620,000 A 20,000
OsAE8sgIASS
2,000, 000& *550CH x50/ 100 550,000
= 110,000
Al 440,000
OgAHAZUIESHIANE
20,000, 000& *5CH *50/100 50,000
< 15,000
Al 35,000
BASEHDZFANFZIS 3 (AL 2l )<E x> 38,000 50,000 A 12,000
J| 38,000
101 @14 Hl 16,121 20,777 A 4,656
J| 16,121
04 JIZHHZ2XNHEE S 16,121 20,777 A 4,656
OZXZMAY =2 16,121
v ral:] 14,458,000& 14,458
J| 14,458
A2 J22RE3 1,663,000 1,663
J| 1,663
201 L2l 9,879 13,223 N 3,344
J| 9,879
01 At 2t 2l 9,879 13,223 A 3,344
O1.det=ZHl 639
-AEMYRFE Let=EH| 638,940& 639
J| 639




FAN: sHEML.
Y SOFMAYN (SYHL /Y - SE)
el AZMAS LTS (el @2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O3.249=¢% 5,040
—AZAHEO AMA-STEY 70,000& x72H 5,040
| 5,040
O5.= gl 4,200
-“AEMF=A =l 7,0003 x12H+50 4,200
| 4,200
202 O4dl 12,000 16,000 A 4,000
J| 12,000
01 = LHA YI 12,000 16,000 A 4,000
OZXEMYSF=E Kbl 20,0003 x 15 x40 12,000
| 12,000
MASBEDNFANFEINE=<EL> 6,000,000 6,500,000 A 500,000
= 6,000,000
301 LEtE A= 6,000,000 6,500,000 A 500,000
= 6,000,000
11IIEHEA S 6,000,000 6,500,000 A 500,000
OUASBNAZTNES(LEA=Z)
6,000,000, 000& 6,000,000
= 6,000,000
TR ERCES 908,952 563,859 345,003
= 908,952
301 getE 4= 908,952 563,859 345,093
= 908,952
1MIIEBESS 908,952 563,859 345,093
OL=sHEES 908,952,000& 908,952
= 908,952
TAHELZHES<KE D> 290,000 248,000 42,000
= 232,000
< 17,400
Al 40,600
301 YerE A 290,000 248,000 42,000
= 232,000
< 17,400
Al 40,600
11IIEtEA S 290,000 248,000 42,000
OxXHElH=EZ 290,000, 000& 290,000
= 232,000
< 17,400
Al 40,600
1 TH O A8 24 B =) X R ANRI < X > 84,500 73,000 11,500
< 25,350
Al 59,150
402 RI2EX20| ™ 84,500 73,000 11,500
= 25,350
Al 59,150




FAN: sHEML.
B SAMHAN (SYNLLL /Y - SE)
Sl AZNAFLN S (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 84,500 73,000 11,500
o=22d=x) N& 10,000,000 =10CH x50/ 100 50,000
= 15,000
Al 35,000
Ob SRELEI| X8
3,000,000 »20CH x50/ 100 30,000
= 9,000
Al 21,000
Ot EBXA=D1 XA  3,000,000% «3CH*50/100 4,500
< 1,350
Al 3,150
Has A SIS 2 HZS X JA<E > 150,000 0 150,000
< 45,000
Al 105,000
402 RI2FX=01 M 150,000 0 150,000
< 45,000
Al 105,000
02 QI EAISEZ (OIS ) 150,000 0 150,000
OMSA SLBYH LBIIHEHZ X
300,000,000% *1JH 2 x50/ 100 150,000
< 45,000
Al 105,000
ANHASHENESNI<E > 14,400 5,760 8,640
< 4,320
Al 10,080
201 £B-2dH| 14,400 5,760 8,640
< 4,320
Al 10,080
01 At 22l 14,400 5,760 8,640
O1.det==2Hl 14,400
-HNASHEXN 2=Z  6,000& 2002 +12& 14,400
< 4,320
Al 10,080
Sl YU s A RI<E 2> 3,200 2,400 800
< 960
Al 2,240
301 LetR &3 3,200 2,400 800
< 960
Al 2,240
1MIIEESS 3,200 2,400 800
O=RcIYMEl sItX& 400,000& *8ha 3,200
< 960
Al 2,240
PeoXEa WY K< E> 16,000 20,000 £ 4,000
J| 16,000
101 @144 dl 8,061 10,389 A2,328




2N sSHEHL,
Y SOFMAYN (SYHL /Y - SE)
el AZMAS LTS (el @2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Jl 8,061
04 JIZtHNZ22HEE+ 8,061 10,389 N2,328
A ALY =& 8,061
= 7,229,000& 7,229
J| 7,229
-AHEE J&22Y3 832,000 832
J| 832
201 L Et2A | 7,939 9,611 A1,672
J| 7,939
01 At 22l 7,939 9,611 21,672
O1.dBt=2H| 6,189
-HENYRFA Let=ZH| 6,189,000 6,189
J| 6,189
O5.=2 &l 1,750
HEHYUDEX ARADDR B4
7,000 x10H 25 1,750
Jl| 1,750
=Et&E T K3<E2 x> 87,000 60,000 27,000
< 26,100
Al 60,900
301 et A3z 87,000 60,000 27,000
< 26,100
Al 60,900
NJIEEd=s 87,000 60,000 27,000
O=Et= S THHH XI & 3,000, 000& *29%ha 87,000
S 26,100
Al 60,900
SXS LR T XA<EE> 6,500 60,000 A53,500
< 1,950
Al 4,550
402 212t X 20 & 6.500 60,000 A 53,500
=) 1,950
Al 4,550
02 U2 THEALEZ(0IETHR) 6,500 60,000 A 53,500
OdizsZel)l XN& 1,000, 000% *13CH 50/ 100 6,500
< 1,950
Al 4,550
HENMBISX ZLHAS X JA<E => 590,000 0 590,000
= 177,000
Al 413,000
402 2I2tX=201 & 590,000 0 590,000
=) 177,000
Al 413,000
02 2IZt 2 AL EZ (OIS ) 590,000 0 590,000
OZSHTHHSH R =L 1,180,000& *500na 590,000




1z O o

YWD,
UABAAS (SHHL LM /5 - 55)
BUAS LTI

SN FH-SA(EN) - MBAY - BES

Off &t 24

=
i

2

H

Al

177,000
413,000

O

1
e
[l
H
1=
oo
X
ﬁ
N
H
P
\

t

Al

1,750

525
1,225

1,750

402 RI2FX=01 M

H

Al

1,750

525
1,225

1,750

SX(0IETHE)

(o]
Ot a4 500, 000& *7J1 *50/100

=]

= N

1,750
1,750

525
1,225

1,750

= H W

1,499,400
1,199,520
89,964
209,916

1,499,400

= MW

1,499,400
1,199,520
89,964
209,916

1,499,400

MIIEtEd =

A
O=EZSHH X & (HMAXHA )
,400,000& *441ha

= N H

1,499,400

1,499,400
1,199,520
89,964
209,916

1,499,400

815,230

5,000
810,230

790,230

25,000

= M

815,230

5,000
810,230

790,230

25,000

[ & TH&)

PHA R (REAE)
815,230,000& » 14!

O
fJ
Ot
A
33
0z
[
O
- O

= M

815,230

815,230

5,000
810,230

790,230

25,000

ol I

2,549,020
305,552
484,498

1,758,970

2,229,310

319,710

H

Al

1,339,400

358,500
980,900

1,446,000

A 106,600

402 2I2tXt=01&

in

Al

1,339,400

358,500
980,900

1,446,000

A 106,600

_20_




FAN: sHEML.
B SAMHAN (SYNLLL /Y - SE)
S HASZHUATE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 1,339,400 1,446,000 A 106,600
ORANASHSRY
2,588,800,000& x50/ 100 1,294,400
< 345,000
Al 949,400
OfIsTA - AMESH X
90,000,000% *50/100 45,000
= 13,500
Al 31,500
S MAA L ZHSEAT DX J<E E> 15,000 20,000 A5,000
< 4,500
Al 10,500
402 2I2H X201 M 15,000 20,000 A5,000
< 4,500
Al 10,500
02 QI EAISEZ (01X ) 15,000 20,000 A5,000
OfsldatAle 2HHEND K&
30,000,000% *50/100 15,000
< 4,500
Al 10,500
DEUIISTHHAIL X< E> 56,880 142,110 185,230
J| 22,752
< 10,238
Al 23,890
402 2I2HXHE01 M 56,880 142,110 A 85,230
J| 22,752
< 10,238
Al 23,890
02 QI E2AIE EZ (OIS ) 56,880 142,110 A 85,230
ODFHIOLE THHAIE K&
20,000& *5,688m x50/ 100 56,880
J| 22,752
< 10,238
Al 23,890
SEEXSAMEEUHSXNI<E > 107,000 100,000 7,000
J| 42,800
< 19,260
Al 44,940
402 2I2H X201 M 107,000 100,000 7,000
J| 42,800
< 19,260
Al 44,940
02 QI EAILEZ (OIS ) 107,000 100,000 7,000
OHAMEAIE S X
214,000,000& *50/100 107,000
J| 42,800
= 19,260
Al 44,940




2N
X ZH -
L= B
el

SEEL
SRR
HASHMLX

P
o
]
%
02
4
x
ol
19
ol
]

(o
SA BB (SH) - NRAY - B Ol At o %@i HRE2
THA A DB A 355,000 343,000 12,000

402 BI2H X 20| M 355,000 343,000 12,000
01 It EANSEXZ (MMM A) 355,000 343,000 12,000
OLZSUHESNE DSEMA A
20,000 x5,0004 *60/100 60,000
OHAWMX(ZSZ)XE 5008 %100,0004 «50/100 25,000
OAMEA HAEHNHEH X
250,000 *400E 60/ 100 60,000
OBVAE E X & 5,500,000 x120ha*30/ 100 198,000
ooluel AR sOHR
17,142,850 x70/ 100 12,000
SEQIHAX|ME XS<EE> 195,740 100,000 95,740
=} 20,000
Al 175,740
307 QI2t0| & 195,740 100,000 95,740
& 20,000
Al 175,740
02 QI2tAMAIE E X 195,740 100,000 95,740
OsEdEX|MdHASA 195,740,000 195,740
= 20,000
Al 175,740
SAAIH D BER ZALH<E > 480,000 0 480,000
J| 240,000
= 72,000
Al 168,000
402 BI2H X201 M 480,000 0 480,000
J| 240,000
= 72,000
Al 168,000
02 CIZEXIEAISEX (0| THL) 480,000 0 480,000
OSSR AHI|BIRAFAIS
800,000,000 = 1JH 2~ *60/100 480,000
J| 240,000
= 72,000
Al 168,000
S| BHAI & 25 7,634,582 8,257,839 NB623,257
= 101,990
Xl 2,730,000
== 266,000
Al 4,536,592
SSHI|BIAIE XA 2,617,852 2,267,828 350,024
201 gBt2Ay| 7,520 7,280 240
01 AP 22| H| 7,520 7,280 240
O1.48t4=2H| 2,000
-SENY YRFA B2 H| 2,000,000 2,000

- 22 -




2N
X ZH -
L= B

el

O O OF
12 02 12

S

0y 0

=T’
MHASHSYHL 2L/ - 5E)
BEAl & 2 3t

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O5.2&Hl 1,920
SEENY YRET AAA2L2T 24
8,000 «2Hx102 «12& 1,920
O6. 21z 3,600
-8 - ol SS=s7 FH Sx
500,000 *2.4CH*3 3,600
202 OHl 2,160 2,160 0
01 = LH 4 Hi 2,160 2,160 0
OsSENLYR =AY
60,0003 x2H 3 63l 2,160
401 AIEHI L 2CHEI 398,172 458,388 A60,216
01 A& HI 390,000 450,000 A 60,000
SIEtEHE ALY 150,000, 000& * 14! 150,000
Ot - =i SYIIBAIE A
100,000, 000& * 14! 100,000
OJistdl 2&d SH AMEAY
20,000,000 » 14! 20,000
OEd Edel JIHSZBHZ SHEZFIA
50,000,000 =14l 50,000
OJIH st3el JIHSZBHZ SHEZFIA
50,000,000& =14l 50,000
OJI=dH J=da HEAMY HHlHE =&
20,000,000 =14l 20,000
03 A& S THHI 8,172 8,388 A 216
O=gIIBtAIZ 2 SAIY BAHESE==2
752,000 90 A 6,768
O=sgIIEtAIE 2 stAtE A2 2 0HHI
90,000,000& *0.72/100%50%<& 2+> 1,404
403 UHXSHHS =0l & 2,210,000 1,800,000 410,000
02 S 2S00 HE A= E &AL H 2,210,000 1,800,000 410,000
O=clAlE SX&eltl 240,000,000& =14 240,000
OJIS U3 - S&X7 seIIEAIE A 2e
=]l 100,000, 000& 14 100,000
OHgY Xtdel Eti+=2 X3 A
100,000,000 = 14! 100,000
OgY |RA1el sZ2EZHIA
40,000,000 14! 40,000
Ol g42c Eti=2 HHISA
100,000,000 * 14! 100,000
O=0l= e Eti== FHISA
50,000,000& =14l 50,000
OEZd &2 o= E+=Z2 EXSA
80,000,000 =14 80,000
OEd e =2 X3 A
100,000, 0002 14! 100,000

_23_




FAN: sHEML.
B SAMHAN (SYNLLL /Y - SE)
el = IIBHAI L 2 3 (B9 ®R)
. SfE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Osdl &cl Sti=2 EX3M
40,000,000& =14 40,000
oKt =41l Eti=2 EX3A
100,000, 000& 14 100,000
OulZ gr=e| Sti=2 XS AM
100,000, 000& * 14 100,000
OJIAH LHERI(BIEE) S22 XS A
100,000, 000& * 14! 100,000
OZdl BZA-T SF2E HHSA
40,000,000& =14 40,000
O&st Xl =2t IHASAM
70,000,000& =14 70,000
OJIH &lel Sti=2 FHISAM
50,000,000& =14 50,000
Ot =4 8=X4d HAHB
100,000,000%*1’%‘ 100,000
OZdl 0K =2t HASAM
50,000,000& =14 50,000
OUs thzel =2 HAHASAM
70,000,000& =14 70,000
O&st el 82t HASAM
100,000, 000& * 14 100,000
Osct g4l 8208 HASAM
100,000, 000& * 14 100,000
O¢Y XA E2 =22 EX2A
100,000, 000& * 14 100,000
OJIH 24dcl Sti=2 ZX3AM
100,000, 000& 14! 100,000
OEdl =2 =2 AX3AM(F2H)
200,000,000 =14 200,000
Osct 2&e =2 L =2 dXSAM(F2UA
oh) 80,000,000& =14 80,000
SANMERHANAOIHSZ R 2L H)<KE D> 301,080 809, 543 A 508,463
Xl 210,000
Al 91,080
401 AIEHIZL 2] 301,080 809, 543 A 508,463
Xl 210,000
Al 91,080
1T AlZHI 300,000 807,000 A 507,000
OJIAH SOFXRIZ JIHSB &2 &2
120,000, 000& 14 120,000
Xl 84,000
Al 36,000
Od& BHAXIR JIHSEEZ &2
100,000, 000& 14 100,000
X 70,000
Al 30,000
Osoll €K7 JIAHBEZ &L H
80,000,000& =14 80,000

_24_




2N sEEM.
B SAMHAN (SYNLLL /Y - SE)
CHRl: SHI|IBHAIE 25} )
(o
M- B (B H) - NSAY - B Ol At o %@i HRE2
Al 56,000
Al 24,000
03 AlE 21| 1,080 2,543 AN 1,463
OZAMESHMNEAIY AlE 2T
300,000,000 x0.72/100%50%< & 2+> 1,080
2 SSMASIKNF(SHEHOUZ2RXZLE )<KEX> 2,400,000 4,000,000 A 1,600,000
Xl 1,200,000
== 200,000
Al 1,000,000
403 XX SHHS K201 & 2,400,000 4,000,000 A 1,600,000
Xl 1,200,000
& 200,000
Al 1,000,000
02 2SS =X EASHI 2,400,000 4,000,000 A 1,600,000
O8HXF sH3EIIS3 sZHO38& X4A
& 2,400,000,000& « 1Al 2,400,000
Xl 1,200,000
= 200,000
Al 1,000,000
MNE=XNAsSE=/ASEEIHEI<EX> 60,000 30,000 30,000
= 18,000
Al 42,000
LI 60,000 30,000 30,000
= 18,000
Al 42,000
01 Al&H| 60,000 30,000 30,000
Osdl 22X HEANNsSE=ASEEIAX
15,000,000 = 1Al 15,000
& 4,500
Al 10,500
O=dl 4K MEXNNsSE=RSEEIAX
15,000,000 = 1Al 15,000
&< 4,500
Al 10,500
OFE &= HOUK MAAS=/ASHEXE
Xl 15,000,000 = 1Al 15,000
& 4,500
Al 10,500
OJIA SH €=3X MAAsS=/ASHFEXE
Xl 15,000,000 = 1Al 15,000
& 4,500
Al 10,500
AXEESH (LB )R E> 1,686,000 960,000 726,000
Xl 1,180,000
Al 506,000
Usr2 | 4,304 4,016 288
Xl 3,013
Al 1,291
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FAN: sHEML.
Y SOFMAYN (SYHL /Y - SE)
TRl =HIIBtAIE 25t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 4,304 4,016 288
O1.Let==&H| 2,000
CEEZANEANANY Qe
2,000,000& 2,000
Xl 1,400
Al 600
O5.=2 &l 2,304
-—SESUXNEESAYE FE AMAA2RX 2
&l 8,000& «2H*x12L 128 2,304
Xl 1,613
Al 691
202 O4dl 5,760 5,760 0
Xl 4,032
Al 1,728
01 = LH 4 bl 5,760 5,760 0
OYBS MU ENL (SESUXNELE)EE O
=l 20,0003 «2& » 122 «123] 5,760
X 4,032
Al 1,728
403 Ut SHHSA=0l& 1,675,936 950,224 725,712
X 1,172,955
Al 502,981
02 SO 2SOCHsH 2 X 2 A I 1,675,936 950,224 725,712
OFIY sES&NELESMY
593,000,000 =14l 593,000
Xl 415,000
Al 178,000
OFole sESENELESMY
593,000,000 =14l 593,000
Xl 415,000
Al 178,000
O=EYH sESHNELSAY
489,936,000 » 14! 489,936
Xl 342,955
Al 146,981
I EMEOTR (| HE BN R S LR )< E> 200,720 130,468 70,252
X 140,000
Al 60,720
401 Al HIZ 201 I 200,720 130,468 70,252
X 140,000
Al 60,720
01 A& HI 200,000 130,000 70,000
Od& &43X7 JHB=Z &2 H
200,000,000 =14 200,000
X 140,000
Al 60,000
03 AIE 2 THHI 720 468 252
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FAN: sHEML.
Y SOFMAYN (SYHL /Y - SE)
TRl =HIIBtAIE 25t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJIZMEQZtALY AlZ =TI
200,000,000 0.72/100%50%<Z& 2+> 720
Ha=XELUtdE &< > 160,000 60,000 100,000
< 48,000
Al 112,000
401 Al HI K 201 I 160,000 60,000 100,000
< 48,000
Al 112,000
01 A& HI 160,000 60,000 100,000
OFJ &SN M==XFLAAH
40,000,000& * 14 40,000
< 12,000
Al 28,000
Osoll & U=2X M==X&EHYotM R C
40,000,000& =14 40,000
< 12,000
Al 28,000
OUls X M=aXFLetd A
40,000,000& =14 40,000
< 12,000
Al 28,000
OS2 2o LK HaXSLorEan
40,000,000& =14 40,000
< 12,000
Al 28,000
HAHP SENSSEMHLAIH<E > 208,930 0 208,930
= 101,990
Al 106,940
401 Al HI K 201 I 208,930 0 208,930
= 101,990
Al 106,940
01 A& tI 203,980 0 203,980
O SEIJIHEHH HLZLHEER
146,520, 000& 14 146,520
= 73,260
Al 73,260
OJINH Sx0tS 2L
57,460,000 » 14! 57,460
= 28,730
Al 28,730
02 Zteltl 4,950 0 4,950
OFI| SLIJVNIMEHH HLZLEALR 22
i 146,520,000& *2.26/100 3,312
OJIH SH0tS BHSZFLELEX el
57,460,000& »2.85/100 1,638
sX2el X 39,024 29,344 9,680
sk &e| 39,024 29,344 9,680
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